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EQUIVALENCE FORM
Brand :
Reference :

Rod end fitting Cylinder end fitting
Eyelet

Length a1 :           mm
 Hole d1 :          mm

Thickness :           mm

Eyelet

Length a2 :           mm
 Hole d2 :          mm

Thickness :           mm

Ball socket

Length a1 :        mm
 Ball d1 :        mm

Material : 
Steel      Plastic

Ball socket

Length a1 :        mm
 Ball d1 :        mm

Material : 
Steel      Plastic

Threaded end
 Steel
 Stainless Steel

Welded eyes

Ball joint

Length a1 :          mm
Length b1 :          mm
Thread m1 : M
Material : 

Steel      Plastic

Ball joint

Length a1 :          mm
Length b1 :          mm
Thread m1 : M
Material : 

Steel      Plastic

Fork

Length a1 :         mm
 Hole :             mm

Thickness :         mm

Fork

Length a2 :         mm
 Hole :             mm

Thickness :         mm

Dimensions should be taken with the rod fully open

D84BISV02

F1 Force : N

F1 Force : N

info@bertholdmarx.com
Please send back this document to :
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